


Last twuer  Free partiele selotious o +he Dirac 23.
NN —— e ———— o —————

(tg#d,_ —w) ¢ =0 Divae = k&
—CpeX
Tl«z\pg_{-ove,) ‘l’C’“):VCP) 2

@)‘k P/«—\M)UCP)SO
r -
g-o f He vest 'F““-‘“-& P = C“*,Q
6 -~
CMJO““)”(PQ = = ( B ’n-)vCPe):o
4 -1

Luld.er& P'L:'. \b\.q’

> vCp) =\ ( Z\ §~ 2 cuwpowent Spiver
Z






))

=1 =
g

[

coz‘«£<
2 o
3

C o, |- &
Z T
O

=
Fo = 1
) - S\*—;L‘ -E
o~
e”“{z— [+ &
&
“(












EZ: Fq‘cl’ +d%}/)b

142 « 4D

._gelb
Lo G)L\ 2 ~ =

le ™
g =
L~
_ e y™
P =
\._”151'/0’\/
©-
3(‘1 f_:' l'L>
\
A s (s+V) 3= o



3= (\};PB <?’>>
= (] ]
HL[LQ'\' N —é—b = l A‘ ( é’c © F
! p = I
=N v(P) L é_“(p) 5
A
Let py= +| ) (P\l ".—“-%L”'—LD ;{g’

— th/Q+~ /L-Gk-—?-e-? P=w+l°-(l

=~ - lc++~‘¢%J(~€ povt |



Weessive Do Mele ~ lte.((u'{y LS ’]LrQ'«-e—~a€Pr~
p2e 2, +

P—olr wG—ASLeA PCL\—*LLc.l& ~ leo S...c/l( &qug



Normc.((zc.,{‘tbﬁ: +++ — Lot Loveet 2 Ceg lawv

¢+t ¢ g°
Vpe %
U’*—U == gf\/ A 5+'}P‘7>_ ( - o a_
(e ) Ipz g £°-p = w

=3 (pe p )y =aFe gy (pre ) =p ¢

f\'\ —
= T/M? + EP—%

; °
st o= (L) sty
— S Y
Tos (3Tlpe, st e TR Lot g T Ve %
bz g .
2 =%y
®e)(ps) = (Bp + py &) (Sp=PBsty) = &, —PePyere

"
w



